):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX XKL KKK KKK KKK KKK K KKL KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400502-00001XX

LimitExerciseOl for No.9012
Nol {f() Lox 1}
ol=|\f{(x)=—"7—",a=
Jx -1

| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. Ja = 1]...] 1.0001|] 1.0010| 1.0100J 1.1000] 1.2000]
x|
No2 =| f(x)=—; ,a=0
X +3x i
| x [-0.2000]-0.1000(-0.0100]-0.0010/-0.0001].. la = O|...| 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
6-6¢
No3=|f(x)=—"""",a=0
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
X - 16
Nod=|f(x)=—",a=4
x—4
| x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. Ja = 4]...] 4.0001|] 4.0010| 4.0100] 4.1000] 4.2000]
cos(x)—1
NoS=|f(x)=—",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

X [Page = 0001]

No6=[a=-3,p=-2,9y=0,8=2,e=11]

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0:0:9.0:0:9.0:0:0.0:0:9.0.0:0.0:0:9.0:0:0.0:0:9.0:0:9.0:0:9.0:0.0.0:0:¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK XXX XKXXXKXXXKXXME/1-6400502-00002XX
LimitExerciseOl for No.9016

No]z[f(x):%,a: 1}

| x | 0.8000] 0.9000] 0.9900] 0.9990| 0.9999|.. |la = 1]...] 1.0001|] 1.0010] 1.0100| 1.1000] 1.2000]
6 x
No2=|f(x)=y——"""7,a=0
|x +3x
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

=12 em0]
No3 =| f(x)= ~a=0

1-e
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
cos(x)—1
No4=|f(x)=—",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
—Tx+x +12
NoS=|f(x)=—"",a=

| x | 3.8000| 3.9000] 3.9900] 3.9990| 3.9999|.. |la = 4]...| 4.0001|] 4.0010] 4.0100| 4.1000] 4.2000]

No6=[a=-8,=-6,y=-2,0=2,e=4]
PRI E D 0:610:0:0:0°0.0.0:0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.00.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK XXX XKXXXKXXXKXXME/1-6400502-00003XX
LimitExerciseOl for No.9018

6-6¢
Nol=|f(x)=—"",a=0
X

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
x—4
No2=|f{x)=—""", _,a=4
2x+x" -8
x | 3.8000| 3.9000] 3.9900] 3.9990] 3.9999|.. la = 4]...] 4.0001] 4.0010| 4.0100| 4.1000| 4.2000]
cos(x)—1
No3=|f(x)=—"—"",a=0
X
x |-0.2000]-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
7-4[x
No4d=|f(x)=—"_—",a=49
x—49
| x [48.8000148.9000148.9900148.9990(148.9999].. Ja = 49]...149.0001149.0010149.0100149.1000149.2000/
2] x|
No5 =| f(x)=—; ,a=0
X +2x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-12,3=-9,y=-6,0=2,e=12]
PN R ERERNICHID 0:0:6.0:0:0.0.0:0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0'¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK XXX XXX XKXXXKXXXKXXME/1-6400502-00004XX
LimitExercise0Ol for No.9036

X +2x
Nol=|f(x)=—77,a=0
i | x| 1
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
3-3¢"
No2=|f(x)=—""a=0
L X |
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
3—4x+x
No3=|f(x)=—",a=1
-1 +x
x | 0.8000|] 0.9000| 0.9900| 0.9990] 0.9999|.. |la = 1]...| 1.0001| 1.0010| 1.0100] 1.1000| 1.2000]

Ab4:[ﬂx)=§%§2;a:0}

| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
2-4fx
NoS=|f(x)=—"",a=4
x—4
| x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. Ja = 4]...] 4.0001|] 4.0010| 4.0100] 4.1000] 4.2000]

No6=[a=-8,B=1,y=3,0=4,e=12]
DN BET TR LS EED 0/6.6.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0'¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKXKKKME6/1-6400502-00005XX

LimitExerciseOl for No.9037
1 —cos(x)
Nol=|f(x)=—""",a=0
X

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
—x—30+x
No2=|f(x)=—"",a=6

| x | 5.8000| 5.9000] 5.9900| 5.9990|] 5.9999|.. |a = 6]...] 6.0001] 6.0010| 6.0100| 6.1000] 6.2000|

6 x

No3=|f(x)= ~a=0

1—-e

x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]

Ab4:[ﬂx):¥%:2;a:4}

- X
-

| x | 3.8000| 3.9000| 3.9900| 3.9990] 3.9999|.. |la = 4] 4.0001] 4.0010| 4.0100| 4.1000| 4.2000]
Ab5=[ﬂx): 5 ,azO}
|x +3x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-11,3=-9,y=-4,0=2,e=4]
DA EET TR NI LY D 0.0:0:00.0.0:0:0:0.0.0.00.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX XXX KKK XXX X KXXXKXXXXXME/1-6400502-00006XX
LimitExerciseOl for No.9138

8 —4/x

Ab]z[ﬂx)z;:f—ja=64}

64
| x [63.8000163.9000163.9900(63.9990(163.9999].. |Ja = 64]...]164.0001/64.0010/64.0100164.1000164.2000 |
6-6¢
No2=|f(x)=—""",a=0
X
| x [-0.2000]-0.1000(-0.0100]-0.0010/-0.0001].. la = O|...| 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
1 —cos(x)
No3=|f(x)=—"""",a=0
X
| x [-0.2000]-0.1000(-0.0100]-0.0010(-0.0001].. la = O|...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
14-9x+x°
Nod=|f(x)=—",a=2
-2+Xx
| x | 1.8000| 1.9000| 1.9900| 1.9990| 1.9999|.. Ja = 2]...] 2.0001|] 2.0010| 2.0100] 2.1000] 2.2000]
2
X +3x
NoS=|f(x)=—77,a=0
x|
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[o=-12,B=-4,y=-2,8=-1,e=7]
DRI (CHE NN D 9.0:9.:0.9.9:0.:0.0:9.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.9.9.0.9:0:9.0.9.0.0.9:0.0.0.0.0.0:0:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.0:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXKXXXKXXXKXXXKXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX XXX KKK KKK XXX XKXXXXXME/1-6400502-00007XX
LimitExerciseOl for No.9602

Nol =| f(x) = ,a=0

X

L e —1
| x |-0.2000]-0.1000]-0.0100]-0.0010|-0.0001|.. |a = Of...| 0.0001| 0.0010| 0.0100] 0.1000] 0.2000]

Xt x
No2 = f(x)zw,azo

x [-0.2000/-0.1000/-0.0100|-0.0010|-0.0002]|.. Ja = O|...] 0.0001| 0.0010|] 0.0100] 0.1000| 0.2000]

-1+x
No3=|f(x)=—",,a=1
7-8x+x

x | 0.8000] 0.9000] 0.9900] 0.9990] 0.9999|.. Ja = 1]...] 1.0001] 1.0010| 1.0100| 1.1000| 1.2000]

sin(x)

No4d=|f(x)=—"a=0
X

| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]

4-fx
NoS=|f(x)=—"",a=16
16 —x
| x ]115.8000115.9000115.9900115.9990115.9999|.. |Ja = 16]...116.0001116.0010(116.0100116.1000116.2000 |

No6=[a=-9,p=-1,y=0,5=1,e=11]
ORI (CHE VR ID 9.0:9.0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9.0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.0.9:0.0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX KKK KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKXKKKXME6/1-6400502-00008XX

LimitExerciseOl for No.9616
Nol [f() X2 25}
ol = X :—’a:
5-4/x

| x [24.8000124.9000124.9900124.9990(124.9999].. Ja = 25/]...125.0001125.0010125.0100125.1000125.2000 |
e -1
No2 =| f(x)= ,a=0
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
Xt +x
No3=|f(x)=—77,a=0
i | x| |
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
1 —cos(x)
No4d=|f(x)=—"—"",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
—T+x
No5=|f(x)=—"",,a=7
42 -13x+x
| x | 6.8000] 6.9000| 6.9900| 6.9990| 6.9999|.. |Ja = 7]...] 7.0001|] 7.0010| 7.0100| 7.1000] 7.2000]

No6=[a=-6,f=1,y=4,0=8,e=11]
X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXXXXXXKXXKKKXXXKKXXK XXX XK KXXXKKXXKKXXXKKXXKKKXX XK KXXKKKXXXKKXXKKKXKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKXKKKME6/1-6400502-00009XX

LimitExerciseOl for No.10152
cos(x)—1
Nol=|f(x)=—""—,a=0
X

| x |-0.2000/-0.1000]-0.0100|-0.0010|-0.0001|.. Ja = Of...| 0.0001|] 0.0010| 0.0100] 0.1000| 0.2000]

x—-4
N02:[f(x):—2 ,a:4}

X +3x-28
| x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. Ja = 4]...] 4.0001|] 4.0010| 4.0100] 4.1000] 4.2000]
7e -7
No3=|f(x)=—""a=0
X |
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
2x
Nod=|f(x)=y—""1a=0
|x +x ]
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
Ix =5
NoS=|f(x)=——"a=25
25 —x
| x 124.8000(24.9000124.9900124.9990124.9999|.. Ja = 25]...125.0001125.0010(125.0100125.1000125.2000

No6=[a=-4,B=-2,y=-1,8=0,e=5]
X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXKXXKXXXXXKXXKXXKXXKXXKXXKXXKXXKXXKXXKKXXKKXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXKXXXKXXXKXXXKXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK XXX XXX XKXXXKXXXXXME/1-6400502-00010XX
LimitExerciseOl for No.11738

2¢ -2
Nol z{f(x):—,azo}

X
| x |-0.2000/-0.1000]-0.0100|-0.0010|-0.0001|.. Ja = Of...| 0.0001|] 0.0010| 0.0100| 0.1000| 0.2000]

[ 2|x| }
No2=|f(x)=—""a=0

X +x
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
~11x+x"+28
No3 =|f(x)= ,a=
x—4
x | 3.8000| 3.9000] 3.9900] 3.9990] 3.9999|.. la = 4]...] 4.0001] 4.0010| 4.0100| 4.1000| 4.2000]
1 —cos(x)
Nod=|f(x)=—"—"—"",a=0
X
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
8 —/x
NoS=|f(x)=—""",a=64
64 — x
| x [63.8000]63.9000163.9900163.9990163.9999].. |Ja = 64]...]164.0001/64.0010/64.0100164.1000164.2000 |

No6=[a=-11,p=-2,y=5,5=8,c=10]
DRI (CHE NN IR IND 9.9:9.:0.9.9:0.:0.9:0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:9:0.0.9.0.0.9.0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.0.0.9:0.0.0.0.0.0:0:0.0.0.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0:0.9:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXKXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK KKK KXXKKXXXXXME/1-6400502-00011XX
LimitExerciseOl for No.11754

-2 +x
Nol=|f(x)=—"""" ,,a=2
10-7x+x
| x | 1.8000| 1.9000| 1.9900| 1.9990| 1.9999|.. Ja = 2]...] 2.0001|] 2.0010] 2.0100] 2.1000] 2.2000]
X +2x
No2=|f(x)=—77 La=0
x|
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
—-1+x
No3=|f(x)=—=",a=1
Jx -1
| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. Ja = 1]...] 1.0001|] 1.0010| 1.0100J 1.1000] 1.2000]
1 —cos(x)
No4d=|f(x)=—"—"",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

5x
No5=| f(x)= ~a=0
1-e
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
No6=[a=-12,=-11,y=-6,6=-3,e=0]
P EERETCTSEE R R D'0:0:0:0:0:0:0.0.0.0.0.0:0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0:0.0



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKXKKKXME6/1-6400502-00012XX

LimitExerciseOl for No.11841
7T —alx
Nol :[f(x):—f,a:49}
49 — x

| x 148.8000148.9000148.9900148.9990(148.9999|.. |a = 49]...149.0001149.0010149.0100(149.1000149.2000]

[0-32 50
No2=|f(x)=—"""a=0

e —1
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
sin(x)
No3=|f(x)=—",a=0
X
| x |-0.2000/-0.1000/-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
X +2x
No4=|f(x)=—77,a=0
x|
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

2-3x+x
NoS=|f(x)=—",a=2
2+Xx
| x | 1.8000] 1.9000] 1.9900] 1.9990] 1.9999|.. |la = 2|...] 2.0001] 2.0010| 2.0100| 2.1000| 2.2000]

No6=[o=-6,p=-3,y=1,8=9,c=11]
DRI (CHE NN A D 9.0:9.0.9.9:9.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9.0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9.0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK KKKXKKKME6/1-6400502-00013XX

LimitExerciseOl for No.11842
1 —cos(x)
Nol=|f(x)=—""",a=0
X

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
7-7¢€"
No2=|f(x)=—"—"",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
2-4fx
No3=|f(x)=—""",a=4
4—-x
| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. |la = 4|...] 4.0001] 4.0010| 4.0100|] 4.1000| 4.2000]
X +x
No4 =| f(x)= |x|,a:0
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
-3 +x
No5=|f(x)=—"",,a=3
6-5x+x
| x | 2.8000| 2.9000] 2.9900| 2.9990] 2.9999|.. |la = 3]...] 3.0001|] 3.0010| 3.0100| 3.1000] 3.2000]

No6=[a=-4,B=1,y=3,0=4,e=5]
DN BET TN ICHIED 0:0.0.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXKXXXKXXXKXXXKXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX XXX XXX XXX XKXXXKXXXXXME/1-6400502-00014XX
LimitExerciseOl for No.11901

e -1
No]:{f(x): ,azO}
X

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

—S+x

No2=|f(x)=—""_—,,a=5
-9x+20+x

x | 4.8000] 4.9000] 4.9900] 4.9990] 4.9999|.. Ja = 5]...] 5.0001] 5.0010| 5.0100| 5.1000| 5.2000]

6—1/x

No3=|f(x)=—"—",a=36
x—36

| x [35.8000135.9000135.9900135.9990(135.9999].. Ja = 36]...]136.0001]136.0010136.0100136.1000136.2000/

[ 2|x| }
Nod=|f(x)=—""_"a=0

X +2x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
1 —cos(x)
NoS=|f(x)=—"—"—"",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-12,B=-6,y=1,8=4,c=11]
ORI (CHE AR/ IND 9.0:9.0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:0:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0:9:0.9.0.0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK XXX KKK XXX XKXXXXXME/1-6400502-00015XX
LimitExerciseOl for No.11947

2
x —16
Nol=|f(x)=—",a=4
x—-4
| x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. Ja = 4]...] 4.0001|] 4.0010| 4.0100] 4.1000] 4.2000]

X

4 x
NoZz{f(x)z 1,azO}

e p—
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
X +2x
No3=|f(x)=—77—,a=0
x|
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
1 —cos(x)
Nod=|f(x)=—"—"—"",a=0
X
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
49 —x
NoS=|f(x)=—""F=,a=49
7-4[x
| x [48.8000148.9000148.9900148.9990(148.9999].. Ja = 49]...149.0001149.0010149.0100149.1000149.2000/

No6=[a=-9,p=-8,7y=0,5=8,£=12]
DRI (CHE NN R IND 9.9:9.:0.9.9:9.:0.0:9.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.0.9:0:0.0.0.0.0.9.0.0.0.0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXKXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK XXX X KXXXKXXXXXME/1-6400502-00016XX
LimitExercise0Ol for No.11989

Nol :[f(x) 2%, a= 64}

| x [63.8000[163.9000163.9900163.9990163.9999].. |a = 64]...164.0001164.0010164.0100164.1000]64.2000/
X +2x
No2=|f(x)=—"77"a=0
x|
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

=1 eme]
No3 =| f(x)= ~a=0

1-e

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
42-13x+x°
Nod=|f(x)=—"—"",a=6

—6+x

| x | 5.8000] 5.9000| 5.9900| 5.9990| 5.9999|.. Ja = 6]...] 6.0001|] 6.0010|] 6.0100] 6.1000] 6.2000]
1 —cos(x)
NoS=|f(x)=—"—"—"",a=0
X

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-12,B=-10,y=-2,5=8,c=11]
DRI (CHE NN IND 9.9:9.:0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.:9:0.0.0.0.0.0:9:0.0.9.0.0:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXKXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK KKK XXX XKXXXXXME6/1-6400502-00017XX
LimitExercise0l for No.11996

-6 +x
Nol=|f(x)=—""",,a=6
-18-3x+x
| x | 5.8000| 5.9000| 5.9900| 5.9990| 5.9999|.. Ja = 6]...] 6.0001] 6.0010|] 6.0100] 6.1000] 6.2000]
1 —cos(x)
No2=|f(x)=—"—",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
x—4
No3=|f(x)=—"F=,a=4
2-4fx
| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. |la = 4|...] 4.0001] 4.0010| 4.0100|] 4.1000| 4.2000]
3x
Nod=|f(x)=7>"_1,a=0
|x +3x
x |-0.2000|-0.1000]-0.0100]-0.0010]-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
3¢ -3
NoS=|f(x)=—""a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-3,=-1,y=1,0=2,e=3]
PRI ON A D 0:60°0:00°0:0.0:0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400502-00018XX

LimitExercise0Ol for No.12889
Nol {f() Lox 1}
ol = x:—’a:
Jx -1

| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. Ja = 1]...] 1.0001|] 1.0010| 1.0100J 1.1000] 1.2000]
—-1+x
No2=|f(x)=—"""7,a=1
—-6+5x+x
| x | 0.8000| 0.9000] 0.9900] 0.9990| 0.9999|.. |a = 1|...| 1.0001| 1.0010| 1.0100] 1.1000| 1.2000]
4 x
No3=|f(x)=7>"_1,a=0
|x +2x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
6€ -6
No4=|f(x)=—""a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
1 —cos(x)
NoS=|f(x)=—"—"—"",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-3,=-2,y=-1,0=0,e=7]
X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXKXXKKKXXXKKXXK XXX XK KXXXKKXXKKXXXKKXXKKKXXXKKXXKKKXXXKKXXKKKXKK



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKX XXX KKK KKK KKK KKK KKK K KKK KKK XKL KKK KKK KKK XKKXKKKXME6/1-6400502-0001 9XX

LimitExerciseOl for No.12890
6—4/x
Nol :[f(x):—[,a:36}
36 —x

| x [35.8000135.9000135.9900135.9990135.9999].. |a = 36]...136.0001136.0010136.0100136.1000(36.2000|
cos(x)—1
No2=|f(x)=—"",a=0
X
| x |-0.2000]-0.1000[-0.0100[-0.0010[-0.0001|.. |a = Of...| 0.0001| 0.0010] 0.0100| 0.1000| 0.2000]|

102200
No3=|f(x)=—"""",a=0

X +3x
| x |-0.2000/-0.1000]-0.0100/-0.0010|-0.0001].. |a = O0O]...] 0.0001] 0.0010| 0.0100|] 0.1000| 0.2000]
2x
No4 =| f(x) = ,a=0
X
e —1
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
-3 +x
No5=|f(x)=—""",,a=3
-18+3x+x
| x | 2.8000| 2.9000] 2.9900| 2.9990] 2.9999|.. |la = 3]...] 3.0001|] 3.0010| 3.0100| 3.1000] 3.2000]

No6=[a=-12,B=1,y=4,6=5,6=10]
ORI (CHEVNRCH D 9.9:9.:0.9.9:9.:0.0:9.0.9:0.0.0.0.9.0.9:0.0.9.0.9.9:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.9:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK XXX KKXXXXXXKXXME/1-6400502-00020XX
LimitExerciseOl for No.12891

o
Nol=|f(x)=—""a=0

X +x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
1 —cos(x)
No2=|f(x)=—"—",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
I —x
No3=|f(x)=—""F=,a=1
1—4fx
| x | 0.8000] 0.9000| 0.9900] 0.9990| 0.9999|.. |la = 1|...| 1.0001] 1.0010| 1.0100] 1.1000| 1.2000]
2x
No4 =| f(x) = ~a=0
1-e
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
5-6x+x
NoS=|f(x)=—"—",a=5

| x | 4.8000| 4.9000] 4.9900] 4.9990| 4.9999|.. |a = 5]...] 5.0001|] 5.0010] 5.0100] 5.1000] 5.2000]

No6=[a=-8,B=-6,y=4,0=5,e=9]
DN BET I PINIED 0:0.0.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK K KKK KKK KKK XKL KKK KKK KKK KKKXKKKME6/1-6400502-00021XX

LimitExerciseOl for No.12917
Nol {f() A 9}
ol = X :—’a:
3-4fx

| x | 8.8000| 8.9000] 8.9900] 8.9990| 8.9999|.. |la = 9]...| 9.0001] 9.0010] 9.0100| 9.1000] 9.2000]
2x—8+x°
No2=|\f(x)=—",a=2
-2 +x
| x | 1.8000] 1.9000| 1.9900] 1.9990| 1.9999|.. |la = 2|...| 2.0001| 2.0010| 2.0100| 2.1000| 2.2000]|
cos(x)—1
No3=|f(x)=—",a=0
X
| x |-0.2000]-0.1000(-0.0100]-0.0010(-0.0001|.. |ja = O|...| 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]

3x
Ab4={ﬂx):—___ja20

|x2+x J
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
6€ -6
NoS=|f(x)=—""a=0
X ]
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[0=0,B=3,y=6,8=7,¢=12]
DRI (CHE VNN IND 9.0:9.0.9.9:0.0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:9:0.0.9.0.0.9.0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:0.0.9.9.0.9.0.0.0.0.:0.0.9:0.0.0.0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKKKKKXME6/1-6400502-00022XX

LimitExercise0Ol for No.13099
1 —cos(x)
Nol=|f(x)=—""",a=0
X

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
—6x+8+x
No2=|\f(x)=—",a=2
-2 +x

| x | 1.8000| 1.9000| 1.9900| 1.9990| 1.9999|.. Jla = 2]...] 2.0001|] 2.0010] 2.0100] 2.1000] 2.2000]

6e —6

No3=|f(x)=—""a=0
X
x |-0.2000]-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
9x
No4=|f(x)=y——""",a=0

|x +3x

| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]

4-fx
NoS=|f(x)=—"",a=16
16 —x
| x ]115.8000115.9000115.9900115.9990115.9999|.. |Ja = 16]...116.0001116.0010(116.0100116.1000116.2000 |

No6=[oa=-1,p=2,y=6,56=9,6=10]
DRI (CHE VA D 9.0.:9.0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:0:9.0.9.0.9:9:9.0.9.0.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.:0.0.9:0.9.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKX XXX KKK KKK KKK X KKK KKK KKK KKK KKK KKK KKK KKK KKKXKKKXME6/1-6400502-00023XX

LimitExerciseOl for No.13100
¥ +2x
Nol=|f(x)=—77 La=0

[

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
~Tx+x"+12
No2=|f(x)=—"",a=
x—4
x | 3.8000] 3.9000| 3.9900| 3.9990] 3.9999|.. |la = 4]...| 4.0001| 4.0010| 4.0100] 4.1000| 4.2000]
1 —cos(x)
No3=|f(x)=—"—"—"",a=0
X
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
-1 +x
Nod=|f(x)=—=",a=1
Jx -1
| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. Ja = 1]...] 1.0001|] 1.0010| 1.0100J 1.1000] 1.2000]
7x
NoS=|f(x)=—"""a=0
e —1
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-11,=-8,y=-2,0=0,e=4]
PN R=EY TN IID'0:60°0.00:0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.00.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0:4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXKXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX KKK KKK KKK KXXXKXXXKXXME/1-6400502-00024XX
LimitExerciseOl for No.13411

Nol =[f(x):%, a:4}

x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. |la = 4|...] 4.0001| 4.0010|] 4.0100] 4.1000| 4.2000]
cos(x)—1
No2=|f(x)=—"",a=0
X
| x |-0.2000]-0.1000[-0.0100[-0.0010[-0.0001|.. |a = Of...| 0.0001| 0.0010] 0.0100| 0.1000| 0.2000]|

102200
No3=|f(x)=—"""",a=0

x +3x
| x |-0.2000]-0.1000]-0.0100|-0.0010|-0.0001}.. |Ja = O0O]l...| 0.0001) 0.0010] 0.0100| 0.21000]| 0.2000]

X =16
N04:[f(x)=—4,a:4}

| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. |la = 4]...] 4.0001|] 4.0010| 4.0100| 4.1000] 4.2000]|
3x
No5S=|f(x)=—"""a=0
e —1
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-11,=-8,y=-1,0=0,e=4]
PRIV B D 0:610:0.0:0:0.0.0.0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK KKK XXX XKXXXXXME/1-6400502-00025XX
LimitExerciseOl for No.646101

—2+x
Nol :[f(x):— a:2}
-4 +

25
X
| x | 1.8000| 1.9000| 1.9900| 1.9990| 1.9999|.. Ja = 2]...] 2.0001|] 2.0010] 2.0100] 2.1000] 2.2000]
cos(x)—1
No2=|f(x)=—""""a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
3-fx
No3=|f(x)=—"",a=9
-9+x
| x | 8.8000] 8.9000| 8.9900] 8.9990| 8.9999|.. |la = 9|...| 9.0001] 9.0010| 9.0100] 9.1000| 9.2000]
7€ -7
No4=|f(x)=—""a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

2
X +x
N05=[f(x):—,a:0}
x|
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-1,p=1,y=7,6=9,e=10]
DGR T (CHE NIV D 9.0:9.:0.9.9:0.:0.9.0.0.9:0.0.0.0.9.0.9:9.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:0:0.0.0.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.0:0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX KKK KKK KKK KKK KKK KKK LXK KX KK KKK KKK KKK XKKXKKKME6/1-6400502-00026XX

LimitExerciseOl for No.646102
¥ +3x
Nol=|f(x)=—77 La=0

[

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
—S+x
No2=|f(x)=—",,a=5
-30+x+x
x | 4.8000] 4.9000] 4.9900] 4.9990] 4.9999|.. Ja = 5]...] 5.0001] 5.0010| 5.0100| 5.1000| 5.2000]
X
No3=|f(x)=—",a=0
sin(x)
x |-0.2000]-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
x—36
No4=|f(x)=—"F=,a=36
6—1/x
| x [35.8000135.9000135.9900135.9990(135.9999].. Ja = 36]...]136.0001/36.0010136.0100136.1000136.2000/
7x
NoS=|f(x)=—"""a=0
e —1
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-10,3=2,y=7,0=11,e=12]
DA EEI TR N LI D 0.0.0:00.0.0:0:0:0.0.0.00.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK XXX XKXXKKXXXXXME/1-6400502-00027XX
LimitExerciseOl for No.646103

R
Nol =| f(x)= ~a=0

1-e
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
X +2x
No2=|f(x)=—77 La=0
x|
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
64 —x
No3=|f(x)=—"F=,a=64
8 —/x
| x [63.8000]63.9000163.9900163.9990(163.9999].. Ja = 64]...]164.0001/64.0010/64.0100164.1000164.2000/
-3 +x
Nod=|f(x)=—"",,a=3
-3-2x+x
| x | 2.8000| 2.9000| 2.9900| 2.9990| 2.9999|.. Ja = 3]...] 3.0001|] 3.0010| 3.0100] 3.1000] 3.2000]
1 —cos(x)
NoS=|f(x)=—"—"—"",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-8,p=2,y=3,0=5,e=8]
PRI WA D 0:610°0.0:0:0:0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK XXX XKXXXKXXXXXME6/1-6400502-00028XX
LimitExerciseOl for No.646104

Nolz{f(x): z ,azo}
1-¢

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
1 —cos(x)
No2=|f(x)=—"—",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
—6+5x+x
No3=|f(x)=——"""",a=1
-1 +x
x | 0.8000|] 0.9000| 0.9900| 0.9990] 0.9999|.. |la = 1]...| 1.0001| 1.0010| 1.0100] 1.1000| 1.2000]
-9 +x
Nod=|f(x)=—"F=a=9
3-fx
| x | 8.8000| 8.9000] 8.9900| 8.9990] 8.9999|.. |Jla = 9]...] 9.0001|] 9.0010| 9.0100| 9.1000] 9.2000|
X +3x
NoS=|f(x)=—77,a=0
x|
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-12,p=-9,y=-8,8=-3,6=7]
DRI (CHE VAN D 9.0:9.0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9.9:0.0.9.0.0.9.0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0.9:0.0.0.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.0:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXKXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK XXX KKK XXX X KXXXKXXXXXME/1-6400502-00029XX
LimitExerciseOl for No.646105

-3 +x
Nolz{f(x):—z,a:3}

—6—-x+x
| x | 2.8000| 2.9000| 2.9900| 2.9990| 2.9999|.. Ja = 3]...] 3.0001|] 3.0010| 3.0100] 3.1000] 3.2000]
2|«]
No2=| f(x)=—; ,a=0
L X +2x i
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
4—-4¢
No3 = f(x):—x ,a=0
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
1 —cos(x)
Nod=|f(x)=—"—"—"",a=0
X
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
3-fx
NoS=|f(x)=—"a=9
-9 +x
| x | 8.8000| 8.9000| 8.9900| 8.9990| 8.9999|.. Ja = 9]...] 9.0001|] 9.0010| 9.0100] 9.1000] 9.2000]

No6=[o=-8,p=8,y=10,5=11,e=12]
DRI (CHENIVICE D 9.0:9.:0.9.9:9.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.0.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:0:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXKXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK XXX X KXXXKXXXKXXME/1-6400502-00030XX
LimitExerciseOl for No.646106

Nol =[f(x):%, a:4}

| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. |la = 4|...| 4.0001| 4.0010] 4.0100| 4.1000] 4.2000]
—3+x
No2=|f(x)=—"—",a=3
4x-21+x
| x | 2.8000| 2.9000] 2.9900] 2.9990] 2.9999|.. |la = 3]...] 3.0001] 3.0010| 3.0100| 3.1000] 3.2000]
X
No3=|f(x)=—",a=0
sin(x)
| x |-0.2000/-0.1000/-0.0100|-0.0010]-0.0001|.. |Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
Sx
No4 =| f(x) = ,a=0
X
e -1
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
X +2x
NoS=|f(x)=—77,a=0
x|
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-11,B=-9,y=-1,5=0,&=3]
ORI (CHEIVCI N IND 9.9:9.0.9.9:0.:0.9:0.0.9:9.0.9.0.9.0:9:0.0.9.0.9.9:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:9.0.0.9.0.9:0.0.0.9.0.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX XXX KKK XXX X KXXKKXXXKXXME/1-6400502-00031XX
LimitExerciseOl for No.646107

9x
Nol=|f(x)=7>"_1,a=0
|x +3x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
sin(x)
No2=|f(x)=—",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
—6+x
No3=|f(x)= 5, a=6
-10x+24 +x
x | 5.8000] 5.9000] 5.9900] 5.9990] 5.9999|.. Ja = 6]...] 6.0001] 6.0010| 6.0100| 6.1000| 6.2000|
3-fx
Nod=|f(x)=—"a=9
9—x
| x | 8.8000| 8.9000| 8.9900| 8.9990| 8.9999|.. Ja = 9]...] 9.0001|] 9.0010] 9.0100] 9.1000] 9.2000]
7x
No5=| f(x)= ~a=0
1-e
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[o=-12,B=-9,y=-8,6=-3,e=11]
ORI (CHE VSN D 9.0:9.:0.9.9:0.:0.9:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9.9:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:0:0.0.0.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK XXX KXXXKXXXXXME/1-6400502-00032XX
LimitExercise0Ol for No.646108

Nol =[f(x)=si%(x), azO}

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
X +3x
No2 = f(x)=—|x| ,a=0
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
—T+x
No3=|f(x)=—"",,a=7
—42 —x+x
x | 6.8000] 6.9000| 6.9900| 6.9990] 6.9999|.. |la = T7]...| 7.0001| 7.0010| 7.0100] 7.1000| 7.2000]
x—64
Nod=|f(x)=—=",a=64
Jx -8
| x [63.8000]63.9000163.9900163.9990163.9999].. |Ja = 64]...]164.0001/64.0010/64.0100164.1000164.2000/
2x
No5S=|f(x)=—"""a=0
e —1
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-11,B=-2,y=5,8=7,¢=8]
DGR T (CHENIVC VA D 9.0:9.0.9.9:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:9.0.9.0.0.9.0.0.0.0.9.0.9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.:0.0.9:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX KKK KKK KKK KKK K KKK KKK KKK XKL KKK KKK KKK KKKXKKKXME6/1-6400502-00033XX

LimitExerciseOl for No.646109
cos(x)—1
Nol=|f(x)=—""—,a=0
X

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
6-6¢
No2=|f(x)=—""a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
—T+x
No3=|f(x)=—"71,a=7
—49 +x
x | 6.8000] 6.9000] 6.9900] 6.9990] 6.9999|.. Jla = 7]...] 7.0001] 7.0010| 7.0100| 7.1000| 7.2000|
X +x
No4 = f(x):—|x| ,a=0
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
64 —x
NoS=|f(x)=—=",a=64
Jx -8
| x [63.8000]63.9000163.9900163.9990163.9999].. |Ja = 64]...]164.0001/64.0010/64.0100164.1000164.2000 |

No6=[o=-9,B=-6,y=-1,8=2,£=3]
ORI (CHEIVCICH D 9.9:9.:0.9.9:9.0.0:9.0.9:0.0.0.0.9.0.9:9.0.9.0.9:9:0.0.0.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:9.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.0.0:9:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK XXX X KXXXKXXXKXXME/1-6400502-00034XX
LimitExerciseOl for No.646110

R
Nol =| f(x)= ~a=0

1-¢
| x |-0.2000/-0.1000|-0.0100]-0.0010]-0.00012).. |a = O0O]...] 0.0001)] 0.0010| 0.0100| 0.1000| 0.2000]
1—x
No2=|f(x)=—""F=a=1
1—4/x
| x | 0.8000] 0.9000] 0.9900| 0.9990| 0.9999|.. |la= 1|...| 1.0001)] 1.0010] 1.0100| 1.1000] 1.2000]

[ 2|x| }
No3=|f(x)=—">""—",a=0

X +2x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
cos(x)—1
No4=|f(x)=—",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
3x+x —4
NoS=|f(x)=—"",a=4
x—4
| x | 3.8000| 3.9000] 3.9900| 3.9990| 3.9999|.. |a = 4|...| 4.0001| 4.0010| 4.0100| 4.1000| 4.2000]

No6=[o=-8,B=-1,7=6,8=10,c=11]
DGR T (CHE VY S IND 9.0:9.0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:9.0.9.0.9.0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.9.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXXXKXXXKXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX KKK KKK KKK KKK XKXXXKXXXXXME/1-6400502-00035XX
LimitExerciseOl for No.646111
Ax =17

Nol :[f(x):x_—, a:49}

49
| x [48.8000148.9000148.9900148.9990(148.9999|.. Ja = 49]...149.0001149.0010149.0100149.1000149.2000 /|
7€ -7
No2=|f(x)=—""",a=0
| x |-0.2000/-0.1000]-0.0100]-0.0010|-0.0001].. |a = O0O]...] 0.0001] 0.0010| 0.0100|] 0.1000| 0.2000]
X +2x
No3 = ﬂx)z—T;T_}azo
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
-3 +x
Nod=|f(x)=—"",,a=3
—-6—-x+x
| x | 2.8000| 2.9000| 2.9900| 2.9990| 2.9999|.. Ja = 3]...] 3.0001|] 3.0010| 3.0100] 3.1000] 3.2000]
cos(x)—1
NoS=|f(x)=—",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-10,3=-1,y=2,0=4,e=06]
PN R-EYTRENIICISE D 0:60:0:00°0:0.0:0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0-0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK XXX KKK XKXXXKXXXXXME/1-6400502-00036XX
LimitExerciseOl for No.646112

R
Nol =| f(x)= ~a=0

l-e
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
—6x+8+x
No2=|\f(x)=—",a=2
—2+x
x | 1.8000] 1.9000] 1.9900] 1.9990] 1.9999|.. Jla = 2]...] 2.0001] 2.0010| 2.0100| 2.1000| 2.2000]
1 —cos(x)
No3=|f(x)=—"—"—"",a=0
X
x |-0.2000]-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
X +3x
Nod=|f(x)=—77,a=0
x|
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
x—4
NoS=|f(x)=—""F=,a=4
2-4fx
| x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. Ja = 4]...] 4.0001|] 4.0010| 4.0100] 4.1000] 4.2000]

No6=[a=0,B=1,y=5,8=6,e=12]
X [Page = 0036] XXXXXXXXXXXXXXXXXXXXXKXXKXXKXXKXXKXXKXXKXXKXXKXXKXXKXXKXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK XXX KKK XXX XKXXKKXXXXXME/1-6400502-00037XX
LimitExerciseOl for No.646113

X +x
Nol = f(x)zw,azo

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
5¢ -5
No2=|f(x)=—""a=0
X
x |-0.2000|-0.1000]-0.0100]-0.0010|-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
—-1+x
No3=|f(x)=—"",,a=1
3+2x+x
x | 0.8000] 0.9000] 0.9900] 0.9990] 0.9999|.. Ja = 1]...] 1.0001] 1.0010| 1.0100| 1.1000| 1.2000]
1 —cos(x)
Nod=|f(x)=—"—"—"",a=0
X
| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
Jx =3
NoS=|f(x)=—"a=9
9—x
| x | 8.8000| 8.9000| 8.9900| 8.9990| 8.9999|.. Ja = 9]...] 9.0001|] 9.0010| 9.0100] 9.1000] 9.2000]

No6=[o=-8,B=-4y=0,8=4,¢=6]
ORI (CHE VSR IND 9.0:9.0.9.9:0.0.9:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9.0:0.0.9.0.0.9.0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.0.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK XKKXKKKXME6/1-6400502-00038XX

LimitExerciseOl for No.646114
Nol [f() x 36 36}
ol =|f(x)=—7—"",a=
Jx -6

| x [35.8000(135.9000(135.9900135.9990135.9999|.. Ja = 36/...136.0001|36.0010|36.0100(36.1000(36.2000|

=300
No2=|f(x)=—""a=0

X +x
| x [-0.2000]-0.1000(-0.0100]-0.0010/-0.0001].. la = O|...| 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
-6 +x
No3=|f(x)=—"_—"5,a=6
x—42 +x
| x | 5.8000] 5.9000| 5.9900| 5.9990| 5.9999|.. Ja = 6]...] 6.0001|] 6.0010|] 6.0100] 6.1000] 6.2000]
cos(x)—1
No4=|f(x)=—",a=0
L X 4
x |-0.2000|-0.1000]-0.0100]-0.0010]-0.0001).. Ja = OJ...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
5-5¢"
NoS=|f(x)=—""a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-1,=0,y=1,0=5,e=7]
PR TRENIICT B IID'0:60:0:00:0.0.0:0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXX XXX XXX KKK KKK KKK KKK K KKK KKK KKK XKL KKK KKK KKK KKKXKKKME6/1-6400502-00039XX

LimitExerciseOl for No.646115
Nol [f() fo-x 16}
ol =|f(x)=—"—""FT7=,a=
4-4fx

| x [15.8000/15.9000115.9900115.9990(115.9999].. Ja = 16]...]16.0001]116.0010(16.0100116.1000116.2000 |
6]x|
No2=|f(x)=—"",a=0
L X +2x i
| x |-0.2000/-0.1000]-0.0100]-0.0010|-0.0001].. |a = O0O]...] 0.0001] 0.0010| 0.0100|] 0.1000| 0.2000]
5¢ -5
No3=|f(x)=—"""",a=0
L X _
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
-7 +x
Nod=|f(x)=—"",,a=7
7-8x+x
| x | 6.8000|] 6.9000| 6.9900| 6.9990| 6.9999|.. |Ja = 7]...] 7.0001|] 7.0010| 7.0100| 7.1000] 7.2000]
1 —cos(x)
NoS=|f(x)=—"—"—"",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-12,B=-6,y=-1,6=0,c=11]
ORI (CHE VISR D 9.0:9.:0.9.9:9.:0.9:9.0.9:0.0.0.0.9.0.9:9.0.9.0.9.0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0:0.0.0.0.0.9.0.0.0.0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK XXX XXX XKXXXKXXXKXXME/1-6400502-00040XX
LimitExerciseOl for No.646116

e
Nol =|f(x)=7—>"7,a=0

|x2+x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
Ax =5
No2=|f(x)=—"_",a=25
25-x
| x |24.8000(24.9000(24.9900]24.9990(24.9999|.. |a = 25|...]25.0001]25.0010/25.0100(25.1000/25.2000]
cos(x)—1
No3=|f(x)=—",a=0
X
| x |-0.2000]-0.1000(-0.0100]-0.0010(-0.0001|.. |ja = O|...| 0.0001| 0.0010| 0.0100| 0.1000| 0.2000]

=12 eme]
No4 =| f(x) = ~a=0

1-¢
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.00012).. |a = O0O]...] 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
-2 +x
No5=|f(x)="",a=2
2x—8+x
| x | 1.8000] 1.9000] 1.9900] 1.9990] 1.9999|.. |la = 2|...] 2.0001] 2.0010| 2.0100| 2.1000| 2.2000]

No6=[0=-9,p=2,7=5,5=8&=10]
DRI (CHE VAN D 9.0:9.0.9.9:0.:0.9:9.0.9:0.0.0.0.9.0:9:9.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.9.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXKXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK XXX KXXXKXXXXXME/1-6400502-00041XX
LimitExerciseOl for No.646117

o
Nol=|f(x)=—""a=0

X +x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

—S+x

No2=|f(x)=—",,a=5
-30+x+x

x | 4.8000] 4.9000] 4.9900] 4.9990] 4.9999|.. Ja = 5]...] 5.0001] 5.0010| 5.0100| 5.1000| 5.2000]

9—x

No3=|f(x)=—=""a=9

Jx -3

| x | 8.8000| 8.9000| 8.9900| 8.9990] 8.9999|.. Ja = 9] | 9.0001] 9.0010| 9.0100| 9.1000| 9.2000|

6 x
N04:{f(x): . 1,azO}

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
cos(x)—1
NoS=|f(x)=—",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-4,B=-1,y=2,8=4,¢=10]
DRI (CHE VNN IND 9.0:9.0.9.9:0.0.0:0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.9.0.9:0:0.0.9.9.0.9.0.0.0.0.0.0.9:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0.0.0:0:0.0.9.0.0.9.0.0.0.0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXKXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK XXX XXX XKXXXKXXME/1-6400502-00042XX
LimitExerciseOl for No.646118

3¢ -3
Nol=|f(x)=—",a=0
X

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
1 —cos(x)
No2=|f(x)=—"—",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
4 x
No3=|f(x)=7—>"_,a=0
|x +2x
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
—-1+x
Nod=|f(x)=—=",a=1
Jx -1
| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. Ja = 1]...] 1.0001|] 1.0010| 1.0100J 1.1000] 1.2000]
—x =30 +x
NoS=|f(x)=—""",a=6
| x | 5.8000] 5.9000| 5.9900| 5.9990| 5.9999|.. |Ja = 6]...] 6.0001] 6.0010|] 6.0100] 6.1000] 6.2000]

No6=[a=-1,=1,y=2,0=3,e=0]
DN BET TR L D RIED 6/66.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0'¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX KXXXXXXKXXME/1-6400502-00043XX
LimitExercise0Ol for No.646119
1—4/x
X

No]z[f(x):l—,a: 1}

| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. Ja = 1]...] 1.0001|] 1.0010| 1.0100J 1.1000] 1.2000]
4] x|
No2 = f(x):2—,a:0
X +2x
| x |-0.2000/-0.1000]-0.0100]-0.0010|-0.0001].. |a = O0O]...] 0.0001] 0.0010| 0.0100|] 0.1000| 0.2000]
cos(x)—1
No3=|f(x)=—",a=0
X
| x |-0.2000/-0.1000]-0.0100/-0.0010|-0.0001].. |a = O0O]...] 0.0001] 0.0010| 0.0100|] 0.1000| 0.2000]
3-3¢
No4=|f(x)=—""a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
-2 +x
NoS=|f(x)=—",,a=2
12-8x+x
| x | 1.8000| 1.9000] 1.9900| 1.9990] 1.9999|.. Jla = 2]...] 2.0001] 2.0010| 2.0100| 2.1000] 2.2000]|

No6=[a=-12,B=-9,y=505=11,¢=12]
DRI (CHEIIV/CH D 9.0:9.0.9.9:0.0.0:0.0.9:0.0.0.0.9.0:0:0.0.9.0.9.9:9.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0.9:0.0.0.0.9:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK XXX XXX XKXXXKXXXKXXME/1-6400502-00044XX
LimitExerciseOl for No.646120

x—4
Nol=|f(x)=—""_—,,a=4
-9x+20+x
| x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. Ja = 4]...] 4.0001|] 4.0010| 4.0100] 4.1000] 4.2000]
cos(x)—1
No2=|f(x)=—""""a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
16 —x
No3=|f(x)=—="",a=16
x -4
| x [15.8000]15.9000/15.9900]15.9990/15.9999|.. |a = 16].../16.0001]16.0010/16.0100]16.1000/16.2000]|
2x
No4 = ﬂx):—;___ia:O
|x +2x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
2x
No5S=|f(x)=—"""a=0
e —1
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-6,=-4,y=-3,0=5,e=7]
PN BET TN L VEEED 6'6'6.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0'¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK XKKKKKKME6/1-6400502-00045XX

LimitExerciseOl for No.646121
8—4/x
Nol :[f(x):—[,a:64}
64 —x

| x [63.8000[163.9000163.9900163.9990163.9999].. |a = 64]...164.0001164.0010164.0100164.1000]64.2000/
X +3x
No?2 = ﬂx):—T;T_}a:O
| x [-0.2000]-0.1000(-0.0100]-0.0010(-0.0001].. la = O|...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
~36 +x°
No3=|f(x)=—"",a=6
-6 +x
| x | 5.8000] 5.9000| 5.9900| 5.9990| 5.9999|.. Ja = 6]...] 6.0001|] 6.0010|] 6.0100] 6.1000] 6.2000]
cos(x)—1
No4=|f(x)=—",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
6-6¢
NoS=|f(x)=—""a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-6,=3,y=5,0=6,e=9]
PRIV D 0:60:0.00:0.0.0:0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK XXX XXX K KXXXKXXXXXME/1-6400502-00046XX
LimitExerciseOl for No.646122

15-8x+x°
Nol=|f(x)=—"—""a=>5
-S+x
| x | 4.8000| 4.9000] 4.9900| 4.9990| 4.9999|.. |a = 5]...] 5.0001|] 5.0010| 5.0100| 5.1000] 5.2000]|
cos(x)—1
No2=|f(x)=—""""a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
5¢ -5
No3=|f(x)=—""a=0
X
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]

8 —/x }

Ab4:[ﬂx):?£__3a:64
—X

| x 163.8000163.9000163.9900163.9990(163.9999|.. |a = 64]...]64.0001164.0010/64.0100/64.1000]/64.2000]

iertil]
No5=|f(x)=—"",a=0

x +3x
| x |-0.2000/-0.1000]-0.0100]-0.0010]-0.0001}.. |a = O0O]...] 0.0001)] 0.0010| 0.0100| 0.1000| 0.2000]
No6=[a=-11,3=6,y=7,0=8,e=10]
D ENEEI TR N VTN D 0:0:0:00.0.0:0:0:0.0.0.00.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXKXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK XXX KKK XXX XXX XKXXXXXME/1-6400502-00047XX
LimitExerciseOl for No.646123

[ 2|x| }
Nol=|f(x)=—">"_",a=0

X +2x
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
5x
No2=|f(x)=—"""a=0
e —1
x |-0.2000/-0.1000|-0.0100|-0.0010]-0.0001].. |a = O]...| 0.0001] 0.0010| 0.0100] 0.1000| 0.2000]
1—x
No3=|f(x)=—""F=,a=1
1—4fx
| x | 0.8000| 0.9000] 0.9900| 0.9990|] 0.9999|.. |la= 1]...] 1.0001] 1.0010| 1.0100| 1.1000] 1.2000]
cos(x)—1
No4=|f(x)=—",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

1+
NoS=|f(x)=—",a=1
-1+x
| x | 0.8000| 0.9000] 0.9900| 0.9990| 0.9999|.. |la = 1]...] 1.0001] 1.0010| 1.0100|] 1.1000| 1.2000]

No6=[a=-11,B=-6,y=-3,5=1,6=6]
ORI (CHE VYR I 9.0:9.0.9.9:0.0.0.0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.9.0.0.9:0.0.0.0.9.0.9.0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.9.9.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0:0:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXX XXX KKK KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKKXKKKME6/1-6400502-00048XX

LimitExerciseOl for No.646124
¥ +3x
Nol=|f(x)=—77 La=0

[

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
64 — x
No2=|f(x)=—/=",a=64
Jx -8
| x 163.8000]163.9000|63.9900]63.9990/63.9999|.. |a = 64|.../64.0001]64.0010/64.0100]64.1000/64.2000]|
3¢ -3
No3=|f(x)=—"""",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
cos(x)—1
No4=|f(x)=—",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
—T+x
No5=|f(x)=—"—",,a=7
21 -10x+x
| x | 6.8000|] 6.9000] 6.9900] 6.9990| 6.9999|.. |la = 7]...] 7.0001|] 7.0010| 7.0100| 7.1000] 7.2000]

No6=[a=-1,=5,y=6,0=7,e=10]
PRI E D 0:60:0.00:0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.¢



):0:9:9.:0:9:9.:9:9:9.0:9.:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0.:9.0:0.9.0:9:9.0:9:0.0:9:9.0:0:9.0:0:9.0:0:9.0.9:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:9.0:0:0.0:0:0.0,0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:9.0:0:0.0:0:0.0:0:9.0:0:0.0:0.:9.0.0.0.
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKX XXX KKK KKK KKK KKK K KKK KKK KKK KKK KKK KKK KKK KKKKKKKME6/1-6400502-00049XX

LimitExerciseOl for No.646125
1 —cos(x)
Nol=|f(x)=—""",a=0
X

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
6—/x
No2=|f(x)=—"",a=36
36 —x
| x [35.8000135.9000135.9900135.9990135.9999].. |a = 36]...]136.0001136.0010|36.0100(136.1000136.2000|
342x+x7
No3=|f(x)=—"",a=1
-1+
| x | 0.8000| 0.9000] 0.9900| 0.9990| 0.9999|.. |la = 1]...] 1.0001] 1.0010| 1.0100| 1.1000| 1.2000]
X +2x
No4 = f(x)=—|x| ,a=0
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
5-5¢"
NoS=|f(x)=—""a=0
L X |
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-10,B=-4,y=-1,6=1,6=4]
ORI (CHE IR D 9.0.:9.:0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9:0:0.0.0.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.0.0.9:0.0.0.0.0.0:9:0.0.0.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0:9:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXKXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK KKK KKK KKXXXXXXKXXME/1-6400502-00050XX
LimitExerciseOl for No.646126

2-3x+x
Nol=|f(x)=—",a=1

| x | 0.8000] 0.9000] 0.9900| 0.9990| 0.9999|.. |Ja = 1]...|] 1.0001|] 1.0010| 1.0100] 1.1000| 1.2000]

x’

[0=1 o)
No2=|f(x)= a=0

1—¢
x |-0.2000/-0.1000|-0.0100]-0.0010]-0.0001|.. |a = O]...| 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]
¥ +3x
No3=|f(x)=—77—a=0
| x|
x |-0.2000/-0.1000|-0.0100]-0.0010]-0.0001|.. |a = O]...| 0.0001] 0.0010| 0.0100| 0.1000| 0.2000]

[ cos(x)—1 }
No4 = f(x):f, a=0

| x |-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
Jx -1
NoS=|f(x)=—"a=1
-1 +x
| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. Ja = 1]...] 1.0001|] 1.0010| 1.0100J 1.1000] 1.2000]

No6=[a=-3,=0,y=2,0=4,e=8]
DN BET TR IUSTNIED:0:0.6.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0'¢



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK KKK XXX XXX XXX XKXXXXXME/1-6400502-00051XX
LimitExerciseOl for No.646127

X
Ab]z[ﬂx):—f__ya:0}
sin(x)
| x [-0.2000(/-0.1000]-0.0100/-0.0010|-0.0001].. |a = O]...| 0.0001] 0.0010] 0.0100| 0.1000] 0.2000]

AbZz{ﬂx)zetx ,a=0}

| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
-1+x
No3=|f(x)="—",,a=1
2-3x+x
x | 0.8000|] 0.9000| 0.9900| 0.9990] 0.9999|.. |la = 1]...| 1.0001| 1.0010| 1.0100] 1.1000| 1.2000]
3x
No4=|f(x)=y—""",a=0
|x+3x
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]
Jx -6
NoS=|f(x)=—"—",a=36
x—36
| x 135.8000135.9000135.9900135.9990135.9999|.. |Ja = 36]...136.0001136.0010(136.0100136.1000136.2000/|

No6=[a=-11,p=-10,y=-6,5=1,c=11]
DRI (CHE VSN D 9.0:9.:0.9.9:9.:0.0.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9.0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.9.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0:9:0.0.0.0.9:0:0.0.0.0.0.9.0.0.0.:0.0.0.9.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXKXXXXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX KXXXKXXXXXME/1-6400502-00052XX
LimitExerciseOl for No.646128

1027
Nol=|f(x)=—">"_",a=0

X +2x
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
5 —dx+x
No2=|f(x)=—"—""a=>5
—S+x
x | 4.8000|] 4.9000| 4.9900| 4.9990] 4.9999|.. |la = 5]...| 5.0001| 5.0010| 5.0100] 5.1000| 5.2000]
x—4
No3=|f(x)=—="",a=4
Jx =2
| x | 3.8000| 3.9000| 3.9900| 3.9990| 3.9999|.. Ja = 4]...] 4.0001|] 4.0010| 4.0100] 4.1000] 4.2000]
1 —cos(x)
No4d=|f(x)=—"—"",a=0
X
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
X
No5S=|f(x)=—"""a=0
e —1
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[a=-11,=2,y=7,8=10,e=12]
DRI (CHE ISR D 9.0:9.0.9.9:0.0.9:9.0.9:0.0.0.0.9.0:9:9.0.9.0.9.0:0.0.9.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.9.0.9:0.0.0.0.0.0:9:0.0.0.0.9:0:0.0.9.0.0.9:0.0.0.0.0.0:0:0.0.0.0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢

X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXXXXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX KKK XXX KKK XXX XKXXXXXXXXME/1-6400502-00053XX
LimitExercise0Ol for No.646129

sin(x) }

Ab]z[ﬂx):—___ya:0
X

| x |-0.2000/-0.1000]1-0.0100|-0.0010(-0.0001|.. Ja = O .| 0.0001| 0.0010] 0.0100|] 0.1000] 0.2000]

| ..
ﬁ_s,azzs}

AbZz[ﬂx):;::;—

5
| x 124.8000124.9000124.9900124.9990124.9999|.. |a = 25]...125.0001125.0010(125.0100125.1000125.2000|
15-8x+x
No3=|f(x)=—""7"",a=3
-3 +x
| x | 2.8000| 2.9000] 2.9900] 2.9990] 2.9999|.. |a = 3]...] 3.0001] 3.0010| 3.0100| 3.1000] 3.2000]
Nod=|f(x)=—"""a=0
L e —1 J
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.00012].. Ja = O0O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
- , Z
X +x
NoS=|f(x)=—177,a=0
i | x| 1
| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0001].. Ja = O0Of...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]

No6=[a=-6,=-2,y=1,0=2,e=06]
PR TRENIICH D 0:60:0.00°0:0.0:0:0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0-0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:4



):9:0.9:9.9.9.9,0:0.0.9.9.9.9.9:9:0:0.9.9.9.9.9.9:0.:0.0.9.9.9.9.9,:0.0.9.9.9.9.9.9:0.0.9.9.9.9.9.:9:0:0.0.9.9.9.9.9:0.:0.9.9.9.9.9,9:0.:0.0.9.9.9.9.9.:0:0.0.0.0.9.9.9:0:0.0.9.9.9.9.9:0:0.0.9.9.9.9.:9:0.:0.0.9.9.9.9,9.:0:0.0.9.9.9.9.:9.:0.0:¢
X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXKXX XXX XXX XXX XXX XXX XXX XXX XXX KKK XXX XXX XXX XXX KKK KKK XXX X KXXXXXXKXXME/1-6400502-00054XX
LimitExerciseOl for No.646130

4 x
Nolz{f(x): ,azO}
e —1

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100] 0.1000] 0.2000]
6—+/x
No2=|f(x)=—"—",a=36
x—36
| x 135.8000135.9000135.9900135.9990135.9999|.. |a = 36]...136.0001136.0010(36.0100136.1000136.2000/|
-1+x
No3=|f(x)=—",,a=1
3x—-4+x
| x | 0.8000] 0.9000| 0.9900| 0.9990| 0.9999|.. Ja = 1]...] 1.0001|] 1.0010| 1.0100J 1.1000] 1.2000]

X+ x
No4 = f(x)zw,azo

| x [-0.2000/-0.1000|-0.0100|-0.0010|-0.0002].. Ja = O]...] 0.0001|] 0.0010| 0.0100| 0.1000] 0.2000]
cos(x)—1
NoS=|f(x)=—",a=0
X
| x |-0.2000/-0.1000]-0.0100|-0.0010]-0.0001|.. Ja = O]...] 0.0001] 0.0010| 0.0100| 0.1000] 0.2000]

No6=[o=-10,p=-8,7y=0,5=5,c=11]
DRI (CHENIINY S IND 9.0:9.0.9.9:0.:0.0:0.0.9:0.0.0.0.9.0:9:0.0.9.0.9.0:0.0.0.0.0.9:0.0.0.0.9.0.9:0.0.9.0.9:0:0.0.0.0.0.9:0.0.0.0.0.0:0:0.0.9.0.9:0:0.0.9.9.0.9:0.0.0.0.0.0.9:0.0.0:0.0:0:0.0.0.0.0.9.0.0.0.:0.0.0.0.0.0.0.4
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